PARKS AND RECREATION COMMISSION QUESTIONS
April 10, 2019 MEETING

Item 6.1 – Heritage Tree Appeal – 1577 Latham Street
1. The analysis describes the potential for tree failure due to codominant stems. It appears the codominant stems have been part of this tree’s growth for most of its lifespan. If true, can you assess whether the risk of failure due to codominant stems is currently increasing, is significantly greater than 5-10 years ago, or whether current conditions pose any imminent risk of failure? 
Generally, trees with codominance with included bark have a higher potential for failure at the area of inclusion. The potential for failure can increase over time because the inclusion allows for secondary factors to come into play such as decay mechanisms on top of not allowing the wood to knit together as a properly formed branch would. Redwood trees have a lower rate of decay mechanisms but it is still a factor in the issue of the included bark. As the tree grows, depending on where the trunks started off, more bark can start to include every year. This also increases the forces at play at the point of inclusion. The weaker the attachment and potential for decay the greater the possibility of a large failure.

The other factor that comes into play with risk assessment is the targets the potential failure could hit. This tree would likely be considered moderate risk with a high target zone due to the proximity of the homes and power lines along with the size and weight of the potential failure. 

2. The application letter states, “The tree has grown over the gas utility line, obscuring access to it.” This was not mentioned in the analysis. Can you describe the severity of this issue?
Residential gas lines are typically ¾ inch pipes. I am assuming the fact that the tree is over that line is what they are referencing as obscuring the line. Although not ideal, it is possible for the line to exist under the tree without issues. In the event an issue developed it would be possible to bore under the tree or route the line around the tree. 

3. The report describes 1” of uneven foundation. If related to the roots of the tree, is that something that would remain permanent if the tree were removed, or would root removal or settling over time potentially reverse this condition?
The unevenness would remain until the section of foundation that is being displaced is leveled out. This would likely require a re-pour of the corner section of foundation. Root and even tree removal will not rectify the condition alone. The damage to the foundation at this location will continue increasing the size of the large crack and the lifting over time with no way to mitigate the damage. Roots are not causing the damage at this point. It is the base/root plate of the tree that is causing the issue. 

4. Are there potential mitigations for water flow? (To divert the water flow from the elevated tree base towards the house?)
Staff believes the only way to divert the water from the elevated tree base is to add drains and channels. Even with these, some water would still flow towards the home before entering a drain or channel. Redwood trees are also very aggressive and would invade a drain or channel in a short period of time.

Construction & Irrigation Performance Measures
1. [bookmark: _GoBack]What caused mowing to be at 80% of target for the quarter? Was it due to weather forcing less frequent mowing?
We received roughly 12” more rain than the previous year in total rainfall for the quarter. The wet fields didn’t allow staff to mow all the areas as typically scheduled. 


